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QUADRILATERALS

Example

1. Three angles of a quadrilateral measure 

and . Find the measure of the fourth angle.

Watch Video Solution

68∘ , 43∘

100∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_P47hAfLcgPWc
https://dl.doubtnut.com/l/_GnzGxFU5g9gi


2. In a quadrilateral ABCD,  and  in

the ratio 1:2:2:4. find the measure of each angle of

the quadrilateral.

Watch Video Solution

∠A, ∠B, ∠C ∠D

3. In a quadrilateral ABCD, AO and BO are bisectors

of  and angle B respectively. Prove that

Watch Video Solution

∠A

∠AOB = (∠C + ∠D)
1

2

https://dl.doubtnut.com/l/_GnzGxFU5g9gi
https://dl.doubtnut.com/l/_phM3VzfbU2rP


4. In the fig. ABCD is a quadrilateral in which AB is

the largest and CD is the shortest side. Prove that:




Watch Video Solution

∠C > ∠A

5. In the fig. ABCD is a quadrilateral in which AB is

the largest and CD is the shortest side. Prove that:

https://dl.doubtnut.com/l/_LtkcVzub2Q2Z
https://dl.doubtnut.com/l/_oW3HZb6aOEaN





Watch Video Solution

∠D > ∠B

6. In the fig. the point O is in the inside of an

equilateral quad. ABCD such that OB=OD. Prove that

https://dl.doubtnut.com/l/_oW3HZb6aOEaN
https://dl.doubtnut.com/l/_GS86oV4e1OSl


the points A,O and C are collinear

Watch Video Solution

7. In a ||gm ABCD if  find  and 

.

∠A = 125∘ ∠B, ∠C

∠D

https://dl.doubtnut.com/l/_GS86oV4e1OSl
https://dl.doubtnut.com/l/_WNM89kZL3Usg


Watch Video Solution

8. In the fig. ABCD is a rhombus if  find 




Watch Video Solution

∠A = 66∘

∠CDB

https://dl.doubtnut.com/l/_WNM89kZL3Usg
https://dl.doubtnut.com/l/_M3tnBtnoRY1s


9. In the fig. ABCD is a square, A line segment DP cuts

BP at P and diagonal AC at O such that

 and . Find the value of

x.

Watch Video Solution

∠COD = 110∘ ∠OPC = x ∘

https://dl.doubtnut.com/l/_WMesVUOiI1Xo


10. ABCD is a rhombus such that .

Then  is

Watch Video Solution

∠ACB = 40∘

∠ADB

11. ABCD is a square. Determine .

Watch Video Solution

∠DCA

12. ABCD is a rectangle with  find 

.

Watch Video Solution

∠BCA = 34∘

∠DBC

https://dl.doubtnut.com/l/_2E0nbQ84gu0P
https://dl.doubtnut.com/l/_MiNwfzhzJezg
https://dl.doubtnut.com/l/_g5FsCjZtO9IY


13. In the fig. ABCD is a parallelogram compute the

values of x and y

Watch Video Solution

14. In Fig. find the four angles A, B, C and D in the

parallelogram ABCD.

h id l i

https://dl.doubtnut.com/l/_g5FsCjZtO9IY
https://dl.doubtnut.com/l/_Fn8ZELnztPvr
https://dl.doubtnut.com/l/_W8euHelEi0rq


Watch Video Solution

15. The diagonals of a prallelogram ABCD intersect at

O. A line through O intersets AB at P and DC at Q.

prove that OP=OQ.

Watch Video Solution

16. ABCD is a parallelogram. AB is produced to E, so

that BE = AB. Prove
that ED bisects BC.

Watch Video Solution

https://dl.doubtnut.com/l/_W8euHelEi0rq
https://dl.doubtnut.com/l/_4s2Ld3ML1OSj
https://dl.doubtnut.com/l/_b9TMty7N3SO5


17. ABCD is a parallelogram and line segments AX,CY

bisects the angles A and C respectively show that

AX||CY.

Watch Video Solution

18. ABCD is a parallelogram E is the mid point of AB

and CE bisects . Prove that:


AE=AD?

Watch Video Solution

∠BCD

https://dl.doubtnut.com/l/_usEDsBTrs4ZA
https://dl.doubtnut.com/l/_xOdTOGBRKqM0


19. ABCD is a parallelogram E is the mid point of AB

and CE bisects . Prove that:


DE bisects 

Watch Video Solution

∠BCD

∠ADC

20. ABCD is a parallelogram E is the mid point of AB

and CE bisects . Prove that:


Watch Video Solution

∠BCD

∠DEC = 90∘

https://dl.doubtnut.com/l/_qRL6LnobwahZ
https://dl.doubtnut.com/l/_TPWKzhC24fzW


21. D,E and F are respectively the mid points of the

sides BC,CA and AB of an equilateral triangle ABC,

prove that DEF is also equilateral triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_dhZcqZSiVymQ


22. In the fig. ABC, is an isosceles triangle in which

AB=AC. Also D,E and F are mid point of BC, CB and AB

respectively. Show that  and AD is

determined by EF

Watch Video Solution

AD ⊥ EF

https://dl.doubtnut.com/l/_Bif2y9xhrsFi


23. In the fig. AD is a median of triangle ABC and E is

the mid point of AD, also BE meets AC in F. prove

that 


Watch Video Solution

AF = AC
1

3

24. In the fig D,E and F are the mid points of the

sides BC,CA and AB respectively of . If BE△ ABC

https://dl.doubtnut.com/l/_Q2SEdoAKSpbk
https://dl.doubtnut.com/l/_p8UmwsXANYzi


and DF intersect at X while CF and DE ntersect at Y.

prove that 


Watch Video Solution

XY = BC
1

4

https://dl.doubtnut.com/l/_p8UmwsXANYzi


25. In the fig. ABCD and EFGC are rectangles, where F

is the mid point of AC. Prove that:DE=EC

Watch Video Solution

26. In the fig. ABCD and EFGC are rectangles, where F

is the mid point of AC. Prove that: 
EG = AC
1

2

https://dl.doubtnut.com/l/_zorMEXJtbuQ1
https://dl.doubtnut.com/l/_Cduoisof7lwH


Watch Video Solution

27. In Fig. 

,


ABCD is a parallelogram in which P is the mid-point

https://dl.doubtnut.com/l/_Cduoisof7lwH
https://dl.doubtnut.com/l/_0RdKxUpvTkcB


of DC and Q is a point on AC such that .

If PQ produced meets BC at R, prove that R is a mid-

point of BC.

Watch Video Solution

CQ = AC
1

4

28. E and F are the mid points of non-parallel sides

AD and BC respectively of a trapezium prove that

EF||AB.

Watch Video Solution

https://dl.doubtnut.com/l/_0RdKxUpvTkcB
https://dl.doubtnut.com/l/_eEVCqAP11rW7


29. In the fig. ABCD is paralllelogram and E is the mid

point of AD. A line through D, drawn parallel to EB,

meets AB produced at F and BC at L. prove that




AF=2DC

Watch Video Solution

30. In the fig. ABCD is paralllelogram and E is the mid

point of AD. A line through D, drawn parallel to EB,

https://dl.doubtnut.com/l/_dEZtpl0v8sIB
https://dl.doubtnut.com/l/_JDiHZRc0N61B


meets AB produced at F and BC at L. prove that

DF=2DL.




Watch Video Solution

31. Show that the st. Line joining the mid-points of

two non-parallel sides of a trapezium is parallel to

the bases and is equal to half of the sum of their

lengths.

Watch Video Solution

https://dl.doubtnut.com/l/_JDiHZRc0N61B
https://dl.doubtnut.com/l/_B33TZqo1wkbc


Watch Video Solution

32. While studying prperties of triangle, Rakesh, a

student of class IX concluded that all four angle of

quadrilateral must be acute.

Justify on behalf of Rakesh.

Watch Video Solution

33. While studying prperties of triangle, Rakesh, a

student of class IX concluded that all four angle of

quadrilateral must be acute.

Justify on behalf of Rakesh.

W h Vid S l i

https://dl.doubtnut.com/l/_B33TZqo1wkbc
https://dl.doubtnut.com/l/_Uof37EtFiOkl
https://dl.doubtnut.com/l/_GUpPUXRUHphD


Watch Video Solution

34. PQRS is a rhombus where . There

are two fire stations R and S and fire is represent at

O. Which fire stations team can reach early?




Watch Video Solution

∠PSR = 120∘

https://dl.doubtnut.com/l/_GUpPUXRUHphD
https://dl.doubtnut.com/l/_yaioWvAfbb4a


35. PQRS is a rhombus where . There

are two fire stations R and S and fire is represent at

O.Which value is depicted?




Watch Video Solution

∠PSR = 120∘

36. In a triangle ABC find the measures of all the

angles of the traingle formed by joining the mid

https://dl.doubtnut.com/l/_7RJBa6MSRSIH
https://dl.doubtnut.com/l/_h1Pfrj65ZWW1


points of the sides of this triangle.

Watch Video Solution

37. The angles of quadrilateral are in the ratio 3 : 5 :

9 : 13. Find all the angles of the quadrilateral.

Watch Video Solution

38. Which of the following statements are True or

False :

If the diagonals of a parallelogram are equal then it

is a rectangle.

https://dl.doubtnut.com/l/_h1Pfrj65ZWW1
https://dl.doubtnut.com/l/_qxdbpiMn5uT0
https://dl.doubtnut.com/l/_SUucSw8BKoJr


Watch Video Solution

39. If diagonals of a quadrilateral bisect each other

at right angles, then it is a :

Watch Video Solution

40. Show that the diagonals of a square are equal

and bisect each other at right angles

https://dl.doubtnut.com/l/_SUucSw8BKoJr
https://dl.doubtnut.com/l/_q90aYHFk69cU
https://dl.doubtnut.com/l/_VSfsyBsfSUc4


Watch Video Solution

41. Show that if the diagonals of a quadrilateral are

qual and bisect each other at right angles, then it is

a square

Watch Video Solution

https://dl.doubtnut.com/l/_VSfsyBsfSUc4
https://dl.doubtnut.com/l/_xOLEnCZOos7x


42. Diagonal AC of a parallelogram ABCD bisects 

show that




If bisects  also.

Watch Video Solution

∠A

∠C

https://dl.doubtnut.com/l/_yXYfDSYmWcZT


43. Diagonal AC of a parallelogram ABCD bisects 

show that




ABCD is a rhombus.

Watch Video Solution

∠A

https://dl.doubtnut.com/l/_bN55BqmJBYRI


44. ABCD is a rhombus. Show that the diagonal AC

bisects  as well as  and diagonal BD bisects 

 as well as .

Watch Video Solution

∠A ∠C

∠B ∠D

45. ABCD is a rectangle in which diagonal AC bisects

/_C`. Show that ABCD is a square.

Watch Video Solution

∠Aaswellas

46. ABCD is a rectangle in which diagonal AC bisects

/_C∠Aaswellas . ShowtD̂ iagonalBDbi sec ts ⊥ h

https://dl.doubtnut.com/l/_B5G4bFhQPNh8
https://dl.doubtnut.com/l/_Mq1xXvyTEnTG
https://dl.doubtnut.com/l/_XaiNZFWWItH5


/_B /_D`.

Watch Video Solution

aswellas

47. In parallelogram ABCD, two points P and Q are

taken on diagonal BD such that DP=BQ




show that: 

Watch Video Solution

△ APD ≡ △ CQB

https://dl.doubtnut.com/l/_XaiNZFWWItH5
https://dl.doubtnut.com/l/_MAe7EZU6gVCe
https://dl.doubtnut.com/l/_YPy58fx8ChlW


48. In parallelogram ABCD, two points P and Q are

taken on diagonal BD such that DP=BQ




AP=CQ

Watch Video Solution

49. In parallelogram ABCD, two points P and Q are

taken on diagonal BD such that DP=BQ

https://dl.doubtnut.com/l/_YPy58fx8ChlW
https://dl.doubtnut.com/l/_LwMeoq1r7B9G





Show that: 

Watch Video Solution

△ AQB ≡ △ CPD

50. In parallelogram ABCD, two points P and Q are

taken on diagonal BD such that DP=BQ

https://dl.doubtnut.com/l/_LwMeoq1r7B9G
https://dl.doubtnut.com/l/_csYBNbCMJ4om





Show that:AQ=CP

Watch Video Solution

51. In parallelogram ABCD, two points P and Q are

taken on diagonal BD such that DP=BQ. Show that

https://dl.doubtnut.com/l/_csYBNbCMJ4om
https://dl.doubtnut.com/l/_AMhNn04nwDyQ


APCQ is a parallelogram. 




Watch Video Solution

52. ABCD is a parallelogam and AP and CQ are the

perpendicualr form vertices A and C on diagonal

https://dl.doubtnut.com/l/_AMhNn04nwDyQ
https://dl.doubtnut.com/l/_YPXq0IiY3lel





Show that: 

Watch Video Solution

△ APB ≡ △ CQD

53. ABCD is a parallelogam and AP and CQ are the

perpendicualr form vertices A and C on diagonal

https://dl.doubtnut.com/l/_YPXq0IiY3lel
https://dl.doubtnut.com/l/_CVkjvSRZFmGq





Show that: AP=CQ

Watch Video Solution

54. In  and , AB=DE, AB||DE, BC=EF

and BC||EF. Vertices A,B and C are joined to vertices

D,E and F respectively

△ ABC △ DEF

https://dl.doubtnut.com/l/_CVkjvSRZFmGq
https://dl.doubtnut.com/l/_asvJyggsya5t





Show that: quadrilateral ABED is a parallelogram.

Watch Video Solution

55. In  and , AB=DE, AB||DE, BC=EF

and BC||EF. Vertices A,B and C are joined to vertices

D,E and F respectively

△ ABC △ DEF

https://dl.doubtnut.com/l/_asvJyggsya5t
https://dl.doubtnut.com/l/_mJr1pmFg8Wkp





quadrilateral BEFC is a parallelogram.

Watch Video Solution

56. In  and  , AB = DE, , BC

= EF and . Vertices A, B and C are joined

to vertices D, E and F respectively (See fig.)

ΔABC ΔDEF AB ∣ ∣ DE

BC ∣ ∣ EF

https://dl.doubtnut.com/l/_mJr1pmFg8Wkp
https://dl.doubtnut.com/l/_k2AzzvTMgT7S


 Show

that  and AD=CF.

Watch Video Solution

AD ∣ ∣ CF

57. In  and , AB=DE, AB||DE, BC=EF

and BC||EF. Vertices A,B and C are joined to vertices

D,E and F respectively

△ ABC △ DEF

https://dl.doubtnut.com/l/_k2AzzvTMgT7S
https://dl.doubtnut.com/l/_qmAK2E07kIdm





Quadrilateral ACFD is a parallelogram.

Watch Video Solution

58. In  and , AB=DE, AB||DE, BC=EF

and BC||EF. Vertices A,B and C are joined to vertices

D,E and F respectively

△ ABC △ DEF

https://dl.doubtnut.com/l/_qmAK2E07kIdm
https://dl.doubtnut.com/l/_cNU4oZnxxau1





AC=DF

Watch Video Solution

59. In  and , AB=DE, AB||DE, BC=EF

and BC||EF. Vertices A,B and C are joined to vertices

D,E and F respectively

△ ABC △ DEF

https://dl.doubtnut.com/l/_cNU4oZnxxau1
https://dl.doubtnut.com/l/_tkAvtQaqYavu





Watch Video Solution

△ ABC ≡ △ DEF

60. ABCD s a trapezium in which AB||CD and AD=BC




https://dl.doubtnut.com/l/_tkAvtQaqYavu
https://dl.doubtnut.com/l/_XLk4UlMQ3RSR


Show that: 

Watch Video Solution

∠A = ∠B

61. ABCD s a trapezium in which AB||CD and AD=BC




Watch Video Solution

∠C = ∠D

https://dl.doubtnut.com/l/_XLk4UlMQ3RSR
https://dl.doubtnut.com/l/_CQp91Wh3TwVn
https://dl.doubtnut.com/l/_bIhBJ2zJXwyI


62. ABCD s a trapezium in which AB||CD and AD=BC

then show that




Watch Video Solution

△ ABC ≡ △ BAD

https://dl.doubtnut.com/l/_bIhBJ2zJXwyI


63. ABCD s a trapezium in which AB||CD and AD=BC




diagonal AC=diagonal BD

Watch Video Solution

64. ABCD is a quadrilateral in which P,Q,R and S are

the mid points of sides AB,BC,CD and DA respectively

AC is a diagonal

https://dl.doubtnut.com/l/_yzJjqN3P37zr
https://dl.doubtnut.com/l/_Ko0aaoc1GQL8





show that: SR||AC and 

Watch Video Solution

SR = AC
1

2

65. ABCD is a quadrilateral in which P,Q,R and S are

the mid points of sides AB,BC,CD and DA respectively

AC is a diagonal

https://dl.doubtnut.com/l/_Ko0aaoc1GQL8
https://dl.doubtnut.com/l/_Htj05elsLA8J





show that: PQ=SR

Watch Video Solution

66. ABCD is a quadrilateral in which P,Q,R and S are

the mid points of sides AB,BC,CD and DA respectively

AC is a diagonal

https://dl.doubtnut.com/l/_Htj05elsLA8J
https://dl.doubtnut.com/l/_y9UTXtbWaPW2





show that: PQRS is a parallelogram.

Watch Video Solution

67. ABCD is a rhombus and P, Q, R, S are the mid-

points of AB, BC, CD and DA respectively. Prove that

quadrilateral PQRS is a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_y9UTXtbWaPW2
https://dl.doubtnut.com/l/_gCO6SnGi8dOS


68. ABCD is a rectangle and P, Q, R and S are the mid-

points of the sides AB, BC, CD and DA respectively.

Show that the quadrilateral PQRS is a rhombus.

Watch Video Solution

69. ABCD is a trapezium, in which AB||DC are a

diagonal and E is the mid point of AD. A is drawn

through E, parallel to AB intersect BC at F. Show that

https://dl.doubtnut.com/l/_gCO6SnGi8dOS
https://dl.doubtnut.com/l/_o2MoDI7WKKJd
https://dl.doubtnut.com/l/_m1NoU48vx64r


F is the mid point of BC

Watch Video Solution

70. In a parallelogram ABCD, E and F are the mid

points of sides AB and CD respectively show that the

https://dl.doubtnut.com/l/_m1NoU48vx64r
https://dl.doubtnut.com/l/_4CLZYg3Ox0dR


line segments AF and EC trisect the diagonal BD

Watch Video Solution

71. Show that the line segments joining the mid-

points of opposite sides of a quadrilateral bisect

each other.

Watch Video Solution

https://dl.doubtnut.com/l/_4CLZYg3Ox0dR
https://dl.doubtnut.com/l/_f7PxmEhgzWwC
https://dl.doubtnut.com/l/_KkN8paAAoW7O


72. ABC is a triangle right angled at C. A line through

the mid-point M of hypotenuse AB and parallel to BC

intersects AC at D. Show that D is the mid-point of

AC.

Watch Video Solution

73. ABC is a triangle right angled at C. A line through

the mid-point M of hypotenuse AB and parallel to BC

intersects AC at D. Show that D is the mid-point of

AC.

Watch Video Solution

https://dl.doubtnut.com/l/_KkN8paAAoW7O
https://dl.doubtnut.com/l/_3wpmrcwLwk7n
https://dl.doubtnut.com/l/_HW26MUkjUGdd


74. ABC is a triangle right angled at C. A line through

the mid-point M of hypotenuse AB and parallel to BC

intersects AC at D. Show that CM = MA =  .

Watch Video Solution

AB
1

2

75. Diagonals AC and BD of a parallelogram ABCD

intersect each other at O. if OA=3 cm and OD=2 cm,

determine the length of AC and BD.

Watch Video Solution

https://dl.doubtnut.com/l/_HW26MUkjUGdd
https://dl.doubtnut.com/l/_ikVFVYMbZuDM


76. Can the angles  and  be the

angles of a quadrilateral? Why or why not?

Watch Video Solution

100∘ , 80∘ , 70∘ 95∘

77. In a quadrilateral ABCD,  and  in

the ratio 1:2:2:4. find the measure of each angle of

the quadrilateral.

Watch Video Solution

∠A, ∠B, ∠C ∠D

78. All the angles of a quadrilateral are equal. What

special name is given to this quadrilateral?

https://dl.doubtnut.com/l/_CFFKV5J21ZqG
https://dl.doubtnut.com/l/_YpiTGYCxBBCF
https://dl.doubtnut.com/l/_vff42nFHE0cX


Watch Video Solution

79. Diagonals of a rectangled are equal are

perpendicular. Is this statement true? Give reasons

for your answer.

Watch Video Solution

80. Can you all four angles of a quadrilateral obtuse

angles? Give reasons for your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_vff42nFHE0cX
https://dl.doubtnut.com/l/_aNQoInWJCczt
https://dl.doubtnut.com/l/_iY1iDddQHHni
https://dl.doubtnut.com/l/_VjIgGsVnrmvV


81. If in a triangle AB=a,AC=b and D,E are the mid-

points of AB and AC respectively, then DE is equal to

Watch Video Solution

82. In the given figure, it is given that BDEF and FDCE

are aprallelograms. Can you say that BD=CD? Why or

https://dl.doubtnut.com/l/_VjIgGsVnrmvV
https://dl.doubtnut.com/l/_EkkYJASEmee7


why not?

Watch Video Solution

83. In fig. ABCD and AEFG are two parallelograms. If

 and determine 
∠C = 55∘ ∠F

https://dl.doubtnut.com/l/_EkkYJASEmee7
https://dl.doubtnut.com/l/_YmWJAFYr7JPr


Watch Video Solution

84. Can all the angles of a quadrilateral be acute

angles? Give reasonf for you answer.

Watch Video Solution

85. If one of the angles formed by two intersecting

lines is a right angle, what can you say about the

https://dl.doubtnut.com/l/_YmWJAFYr7JPr
https://dl.doubtnut.com/l/_xhKQG9W3V83g
https://dl.doubtnut.com/l/_Lya7mZC6rb1O


other three angles? Give reasonf for your answer.

Watch Video Solution

86. Diagonals of a quadrilateral ABCD bisect each

other. If  determine .

Watch Video Solution

∠A = 35∘ ∠B

87. Opposite angles of a quadrilateral ABCD are

equal. If AB=4 cm determine CD.

Watch Video Solution

https://dl.doubtnut.com/l/_Lya7mZC6rb1O
https://dl.doubtnut.com/l/_HOVjUFQNxD09
https://dl.doubtnut.com/l/_DKAIg2oVhPSq
https://dl.doubtnut.com/l/_qQdR0q9Ik6a9


88. One angle of a quadrilateral is of  and the

remaining three angles are equal. Find each of the

three equal angles.

Watch Video Solution

108∘

89. ABCD is a trapezium in which AB||DC and

. Find angled C and D of the

trapezium.

Watch Video Solution

∠A = ∠B = 45∘

https://dl.doubtnut.com/l/_qQdR0q9Ik6a9
https://dl.doubtnut.com/l/_94PEqV0I9oFe


90. The angle betweeen two altitudes of a

parallelogram through the vertex of an obtuse angle

of parallelogram is . Find the angles of the

parallelogram.

Watch Video Solution

60∘

91. If the length of the side of a rhombus is equal to

the length of one diagonal Find the angles of the

rhombus .

Watch Video Solution

https://dl.doubtnut.com/l/_SSw6eGKqYbin
https://dl.doubtnut.com/l/_UrMyjcLUhMnY


92. E and F are points on diagonals AC of a

parallelogram ABCD such that AE=CF. show that BFC

parallelogram

Watch Video Solution

93. ABCD is a trapezium, in which AB||DC are a

diagonal and E is the mid point of AD. A is drawn

through E, parallel to AB intersect BC at F. Show that

https://dl.doubtnut.com/l/_0hrN09zviDjs
https://dl.doubtnut.com/l/_WozwLwrVVDDV


F is the mid point of BC

Watch Video Solution

94. Through A,B and C lines RQ,PR and QP have been

drawn, respectively parallel to sides BC, CA and AB of

https://dl.doubtnut.com/l/_WozwLwrVVDDV
https://dl.doubtnut.com/l/_nIPIPhPbjalV


a  as shown in fig. show that 


Watch Video Solution

△ ABC BC = QR
1

2

95. D,E and F are respectively the mid points of the

sides BC,CA and AB of an equilateral triangle ABC,

https://dl.doubtnut.com/l/_nIPIPhPbjalV
https://dl.doubtnut.com/l/_UbaPpHEq7ZpL


prove that DEF is also equilateral triangle.

Watch Video Solution

96. Points P and Q have been taken on opposite

sides AB and CD. Respectively of a aprallelogram

ABCD such that AP=CQ. Show that AC and PQ bisect

https://dl.doubtnut.com/l/_UbaPpHEq7ZpL
https://dl.doubtnut.com/l/_I8NWZpQGPbkt


each other

Watch Video Solution

97. In fig. P is the mid point of side BC of a

parallelogram ABCD such that ∠BAP = ∠DAP

https://dl.doubtnut.com/l/_I8NWZpQGPbkt
https://dl.doubtnut.com/l/_xsX3HAIo4DnG


prove that AD=2CD

Watch Video Solution

98. A square is inscribed in an isosceles right

triangle so that the square and the triangled on

angle common. Show that the vertex of a square

opposite in vertex of the common angle bisects the

hypotenuse.

https://dl.doubtnut.com/l/_xsX3HAIo4DnG
https://dl.doubtnut.com/l/_Qb4cN9QM3hbW


Watch Video Solution

99. In a parallelogra ABCD, AB=10 cm and AD=6 cm.

The bisectors of  meets DC in an AE and BC

produced at F. find the length of CF.

Watch Video Solution

∠A

100. ABCD is a rectangle and P, Q, R and S are the

mid-points of the sides AB, BC, CD and DA

respectively. Show that the quadrilateral PQRS is a

rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_Qb4cN9QM3hbW
https://dl.doubtnut.com/l/_gyAKPCaGBF2o
https://dl.doubtnut.com/l/_l2Y2SSBF7Mkw


101. P,Q,R and S are respectively the mid points of

the sides AB,BC,CD and DA of a quadrilateral ABCD

such that . Prove that PQRs is a rectangle.

Watch Video Solution

AC ⊥ BD

102. P,Q,R and S are respectively the mid points of

the sides AB,BC,CD and Da of a quadrilateral ABCD in

which AC=BD and . Prove that PQRS is a

square.

Watch Video Solution

AC ⊥ BD

https://dl.doubtnut.com/l/_l2Y2SSBF7Mkw
https://dl.doubtnut.com/l/_xZQzgPPmAbPl
https://dl.doubtnut.com/l/_y0YnpHyhiFtu


103. Diagonal AC of a parallelogram ABCD bisects

 (See fig.)

. Show

that ABCD is  rhombus.

Watch Video Solution

∠A

a

https://dl.doubtnut.com/l/_oI7LDWh4l8pe


104. P,Q are the mid points of the opposite side AB

and CD of a parallelogram ABCD. AP intersects DP at

S and BQ intersects CP at P. Show that PQRS is a

parallelogram.

Watch Video Solution

105. ABCD is a quadrilateral in which AB||DC and

AD=BC. Prove that  and .

Watch Video Solution

∠A = ∠B ∠C = ∠D

https://dl.doubtnut.com/l/_zAuIQV01wtCd
https://dl.doubtnut.com/l/_Zoa72AGMyN2o


106. In the fig. AD is a median of triangle ABC and E is

the mid point of AD, also BE meets AC in F. prove

that 


Watch Video Solution

AF = AC
1

3

107. Prove that the figure formed by joining the mid-

points of the pairs of consecutive sides of a

https://dl.doubtnut.com/l/_pKS8TCMTL3Xi
https://dl.doubtnut.com/l/_T2BpGpTX6u8U


quadrilateral is a parallelogram.

Watch Video Solution

108. E and F are the mid points of non-parallel sides

AD and BC respectively of a trapezium prove that

EF||AB.

Watch Video Solution

109. The bisectors of angles of a parallelogram from

a :

Watch Video Solution

https://dl.doubtnut.com/l/_T2BpGpTX6u8U
https://dl.doubtnut.com/l/_nhmUxrQX8aEI
https://dl.doubtnut.com/l/_KJheoV8MzPAN


110. P and Q are points on opposite sides AD and BC

of a parallelogram ABCD such that PQ passes

through the point of intersection of its diagonals AC

and BD. Show that PQ is bisected at O.

Watch Video Solution

111. ABCD is a rectangle in which diagonal AC bisects

/_C`. Show that ABCD is a square.

Watch Video Solution

∠Aaswellas

https://dl.doubtnut.com/l/_KJheoV8MzPAN
https://dl.doubtnut.com/l/_5KQSqy8owg4A
https://dl.doubtnut.com/l/_CRyYsK6ailmd


112. D,E and F are respectively the mid points of the

sides AB,BC and CA of a triangle ABC. Prove that by

joining these mid points D,E and F and the triangle

ABC is divided into four congruent triangles.

Watch Video Solution

113. Prove that the line joining the mid points of the

diagonals of a trapezium is parallel to the parallel

sides of the trapezium.

Watch Video Solution

https://dl.doubtnut.com/l/_Se0iH1lp2gti
https://dl.doubtnut.com/l/_NaHE5Y6yFU8h


Exercise

114. P is the mid point of the side CD of a

paralellogram ABCD, a line thorugh C parallelogram

to PA intersects AB at Q and DA produced by A. Prove

that DA=AR and CQ=QR.

Watch Video Solution

1. Three angles of a quadrilteral are respectively 

and  and  . Find the fourth angles.

Watch Video Solution

50∘

110∘ 100∘

https://dl.doubtnut.com/l/_AUHdCCQPRR4H
https://dl.doubtnut.com/l/_IqGTD2fbMDGy


2. The angle of a quadrilateral are in the ratio 2: 4: 5:

7. find the angles.

Watch Video Solution

3. In the quad. ABCD is a point inside it. Find that

OA+OB+OC+OD>AC+BD.

Watch Video Solution

4. In the fig.  and . If BL=LM

prove that AC bisects BD

BL ⊥ AC DM ⊥ AC

https://dl.doubtnut.com/l/_Xca7U6SuO5vv
https://dl.doubtnut.com/l/_aHe9T3FOiXJl
https://dl.doubtnut.com/l/_Hxgmjy2Bbl6B


Watch Video Solution

5. In the fig. ABCD is a square and 

PB=QC=DR, prove that:QB=RC

∠PQR = 90∘

https://dl.doubtnut.com/l/_Hxgmjy2Bbl6B
https://dl.doubtnut.com/l/_cpDYnnWAyLOU


Watch Video Solution

6. In the fig. ABCD is a square and 

PB=QC=DR, prove that:PQ=QR

∠PQR = 90∘

https://dl.doubtnut.com/l/_cpDYnnWAyLOU
https://dl.doubtnut.com/l/_bgSOiO8TEixx


Watch Video Solution

7. In the fig. ABCD is a square and 

PB=QC=DR, prove that: 


∠PQR = 90∘

∠QPR = 45∘

https://dl.doubtnut.com/l/_bgSOiO8TEixx
https://dl.doubtnut.com/l/_QghpNtH8tH66


Watch Video Solution

8. ABCD is a quadrilateral whose diagonals AC and

BD intersect at O, prove that:

(AB+BC+CD+DA)>(AC+BD)

Watch Video Solution

https://dl.doubtnut.com/l/_QghpNtH8tH66
https://dl.doubtnut.com/l/_sW3EYtusomkV


9. ABCD is a quadrilateral whose diagonals AC and

BD intersect at O, prove that:

(AB+BC+CD+DA)>2(AC+BD)

Watch Video Solution

10. A diagonal of a rectangle is inclined to one side

of the rectangle at . The acute angle between

the diagonals is

Watch Video Solution

25∘

https://dl.doubtnut.com/l/_mG2hGlZ6nFIA
https://dl.doubtnut.com/l/_0kXXJGSGYjOP


11. In a parallelogram, prove that sum of any two

consecutive angles is .

Watch Video Solution

180∘

12. If an angle of a parallelogram is two thid of its

adjacent angle, find the angles of the parallelogam.

Watch Video Solution

13. In the fig. ABCD is a parallelogram in which

 and  find  and ∠DAB = 60∘ ∠DBC = 80∘ ∠CDB

https://dl.doubtnut.com/l/_GuVZ0uXM4hzv
https://dl.doubtnut.com/l/_xvmiDV7gP0xe
https://dl.doubtnut.com/l/_sb9M4BgKMGIf


Watch Video Solution

∠ADB

14. In the fig. ABCD is a parallelogram in which

,  and 
∠BAO = 35∘ ∠DAO = 40∘ ∠COD = 105∘

https://dl.doubtnut.com/l/_sb9M4BgKMGIf
https://dl.doubtnut.com/l/_wmoicO3UrLsP





find that: ?

Watch Video Solution

∠ABO

15. In the fig. ABCD is a parallelogram in which

,  and 
∠BAO = 35∘ ∠DAO = 40∘ ∠COD = 105∘

https://dl.doubtnut.com/l/_wmoicO3UrLsP
https://dl.doubtnut.com/l/_DpO2X3rQHhbY





find that: ?

Watch Video Solution

∠ODC

16. In the fig. ABCD is a parallelogram in which

,  and 
∠BAO = 35∘ ∠DAO = 40∘ ∠COD = 105∘

https://dl.doubtnut.com/l/_DpO2X3rQHhbY
https://dl.doubtnut.com/l/_BSOZd264hnwu





find that: 

Watch Video Solution

∠ACB

17. In the fig. ABCD is a parallelogram in which

,  and 
∠BAO = 35∘ ∠DAO = 40∘ ∠COD = 150∘

https://dl.doubtnut.com/l/_BSOZd264hnwu
https://dl.doubtnut.com/l/_PYlp8wN5deY0





find that:

Watch Video Solution

∠CDO

18. The diagonals of a rhombus are perpendicular to

each other .

Watch Video Solution

https://dl.doubtnut.com/l/_PYlp8wN5deY0
https://dl.doubtnut.com/l/_gEpIBniIxeSN


19. The diagonals of a rectangle ABCD meet at o and

 and find .

Watch Video Solution

∠BOC = 44∘ ∠OAD

20. ABCD is a rectangle with 

determine .

Watch Video Solution

∠ABD = 40∘

∠DBC

21. The sides AB and CD of a parallelogram ABCD are

bisects at E and F. prove that EBFD is parallelogram.

W t h Vid S l ti

https://dl.doubtnut.com/l/_YA3rv6wWPTbN
https://dl.doubtnut.com/l/_AGG52MRy747b
https://dl.doubtnut.com/l/_HO9XWzRer398


Watch Video Solution

22. Two adjacent angles of a parallelogram have

equal measure. Find the measure of each of the

angles of the parallelogram.

Watch Video Solution

23. The lengths of the diagonals of a rhombus are 10

cm and 8.2 cm .Its area will be :

Watch Video Solution

https://dl.doubtnut.com/l/_HO9XWzRer398
https://dl.doubtnut.com/l/_TjhaG568Rbhg
https://dl.doubtnut.com/l/_iXLBR0CBUf9U


24. In the fig. ABCD is a square M is the mid point

and  meets AD at and CB produced prove

that




PA=BQ?

Watch Video Solution

PQ ⊥ CM

https://dl.doubtnut.com/l/_7qZe5ZDQQgGL


25. ABCD is a square M is the mid point of AB .

. PQ meets AD at P and CB at Q prove

that

CP=CQ

Watch Video Solution

PQ ⊥ CM

26. ABCD is a parallelogram. L and M are points on

AB and DC respectively and AL = CM. Prove that LM

and BD bisect each other.

Watch Video Solution

https://dl.doubtnut.com/l/_7qZe5ZDQQgGL
https://dl.doubtnut.com/l/_27nAp4ekVP1P
https://dl.doubtnut.com/l/_E12BQL5Sd9OB


27. In Fig. .

 


ABCD is a parallelogram and E is the mid-point of

side BC. If DE and AB, when produced meet at F,

prove that AF = 2AB.

Watch Video Solution

https://dl.doubtnut.com/l/_rh7mImVump0T


28. In the fig. ABCD is a parallelogram and X,Y and Z

the points on diagonal BD such that DX=BD prove

that CXAY is a parallelogram.

Watch Video Solution

29. In the fig ABCD is a parallelogram in which E and

F are mid points of AB and CD respectively. Prove

that the line segments CE and AF intersect diagonal

https://dl.doubtnut.com/l/_9TlVYieYrqkZ
https://dl.doubtnut.com/l/_Vaajm9pR5IBI


BD

Watch Video Solution

30. Prove that the figure formed by joining the

points of the adjacent sides of a quadrilateral

parallelogram.

Watch Video Solution

https://dl.doubtnut.com/l/_Vaajm9pR5IBI
https://dl.doubtnut.com/l/_wHLreY8cLGVn
https://dl.doubtnut.com/l/_O7suVtbQLQt6


31. Prove that the figure formed by joining the mid-

points of the pairs of consecutive sides of a

quadrilateral is a parallelogram.

Watch Video Solution

32. In triangleABC, AD is the median through A and E

is the mid point of AD. BE is produced so as to meet

https://dl.doubtnut.com/l/_O7suVtbQLQt6
https://dl.doubtnut.com/l/_5Nkav0bX74lZ


AC in F. prove that 


Watch Video Solution

AF = AC
1

3

33. ABCD is a parallelogram. P is any point on AD,

such that  and Q is a point on BC such

that  . Prove that AQCP is a

parallelogram.

AP = AD
1

3

CQ = AD
1

3

https://dl.doubtnut.com/l/_5Nkav0bX74lZ
https://dl.doubtnut.com/l/_QjWiyySflYqf


Watch Video Solution

34. P is the mid point of side AB of a parallelogram

ABCD. A line through B parallel to PD meets DC at Q

and AD produced at R. prove that

AR=2BC.

Watch Video Solution

35. P is the mid point of side AB of a parallelogram

ABCD. A line through B parallel to PD meets DC at Q

and AD produced at R. prove that

BR=2BQ.

https://dl.doubtnut.com/l/_QjWiyySflYqf
https://dl.doubtnut.com/l/_m20tO8hI1jtj
https://dl.doubtnut.com/l/_jciTTvtuzx7D


Watch Video Solution

36. Prove that the line joining the mid points of the

diagonals of a trapezium is parallel to the parallel

sides of the trapezium.

Watch Video Solution

37. In the fig. two points A and B in on the same side

of a line XY. If  and C is theAD ⊥ XY , BE ⊥ XY

https://dl.doubtnut.com/l/_jciTTvtuzx7D
https://dl.doubtnut.com/l/_I8igch6XGEKr
https://dl.doubtnut.com/l/_LaG4W8XDdQW6


mid point of AB. Prove that CD=CE

Watch Video Solution

38. In the fig. ABCD is a trapezium in which AB||DC

and AD=BC. IF P,Q,R,S are respectively the mid points

of BA,BD and CD,CA, then show that PQRS is a

https://dl.doubtnut.com/l/_LaG4W8XDdQW6
https://dl.doubtnut.com/l/_yOD1O2wG9HYY


rhombus.

Watch Video Solution

39. ABCD is a trapezium in which AB||DC and let E be

the mid point of AD. Let F be a point on BC such that

EF||AB. Prove that

https://dl.doubtnut.com/l/_yOD1O2wG9HYY
https://dl.doubtnut.com/l/_a10xSePz35xe





F is mid point of BC.

Watch Video Solution

40. ABCD is a trapezium in which AB||DC and let E be

the mid point of AD. Let F be a point on BC such that

EF||AB. Prove that

https://dl.doubtnut.com/l/_a10xSePz35xe
https://dl.doubtnut.com/l/_4MozuHIE8HPD





Watch Video Solution

EF = (AB + DC)
1

2

41. In the fig points M and N divide AB of triangleABC

into three equal parts. Line segments MP and NQ

are both parallel to BC and meet AC in P and Q

respectively. Prove that P and Q divide AC nto three

https://dl.doubtnut.com/l/_4MozuHIE8HPD
https://dl.doubtnut.com/l/_GYEp6nMPpxe9


equal parts

Watch Video Solution

42. Prove that any line segment drawn from the

vertex of a trianlge to the base is bisected by the

line segment joining the mid points of the other

sides of the triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_GYEp6nMPpxe9
https://dl.doubtnut.com/l/_5m7QPhG9G2Az


43. The figure obtained by joining the midpoints of

the sides of a rhombus, taken in order, is

Watch Video Solution

44. Diagonals of the parallelogram bisect each other

at right angles .

Watch Video Solution

45. Name the quadrilateral formed in which two

parallel of adjacent sides are of the same length.

https://dl.doubtnut.com/l/_5m7QPhG9G2Az
https://dl.doubtnut.com/l/_4lwIuQIMm5zY
https://dl.doubtnut.com/l/_93Qeo6W52B4D
https://dl.doubtnut.com/l/_5DrftjjYkUsD


Watch Video Solution

46. In a quadrilateral PQRS, .

Name the type of quadrilateral it is?

Watch Video Solution

∠P + ∠S = 180∘

47. In a parallelogram PQRS, write the sum angles of

P and Q.

Watch Video Solution

https://dl.doubtnut.com/l/_5DrftjjYkUsD
https://dl.doubtnut.com/l/_jVUKw1U8otzh
https://dl.doubtnut.com/l/_TNFsBSFy3SnV


48. ABCD is a rectangle with  find 

.

Watch Video Solution

∠BCA = 34∘

∠DBC

49. The perimeter of a parallelogram is 24 cm. if the

large side measures 7.5 cm, what is the measure of

shorter side?

Watch Video Solution

50. In quadrilateral ABCD, AP and BP are bisector of

 and  respectively, then find the value of x∠A ∠B

https://dl.doubtnut.com/l/_n8fSd6sKQBCm
https://dl.doubtnut.com/l/_V0n7bSnZphAN
https://dl.doubtnut.com/l/_MfZVlIYNUCBX


Watch Video Solution

51. If three angles of a quadrilateral are 

and  then find the measure of the fourth angle.

Watch Video Solution

110∘ , 65∘

105∘

https://dl.doubtnut.com/l/_MfZVlIYNUCBX
https://dl.doubtnut.com/l/_qzBRzV9eh69p


52. Opposite angles of a quadrilateral ABCD are

equal. If AB=4 cm determine CD.

Watch Video Solution

53. Can all the angles of a quadrilateral be right

angles? Give reasons for your answer.

Watch Video Solution

54. In a parallelogram PQRS, if , find the

measure of .

W t h Vid S l ti

∠S = 125∘

∠P

https://dl.doubtnut.com/l/_jYS28zQgizlI
https://dl.doubtnut.com/l/_iTSo2ELs00zH
https://dl.doubtnut.com/l/_SSzBFD5ltGQW


Watch Video Solution

55. If the angles of a quadrilateral are in the ratio

3:5:9:13 , then find the measure of the smallest

angle.

Watch Video Solution

56. In a parallelogram PQRS,

, then find the values of x and y.

Watch Video Solution

∠P = (3x − 20) ∘ , ∠Q = (y + 15) ∘ , ∠R = (x + 40) ∘

https://dl.doubtnut.com/l/_SSzBFD5ltGQW
https://dl.doubtnut.com/l/_158UpcmdkeIG
https://dl.doubtnut.com/l/_cIHDv4DLibGZ
https://dl.doubtnut.com/l/_8ulE9OXbjMi1


57. In the fig. PQRS is a trapezium. Find the values of

x and y

Watch Video Solution

58. In the fig. ABCD and AEFG are the parallelogram if

, find 
∠C = 58∘ ∠F

https://dl.doubtnut.com/l/_8ulE9OXbjMi1
https://dl.doubtnut.com/l/_ymAEdZwPMwHf


Watch Video Solution

59. PQRS is a parallelogram. Find the values of x and

y

https://dl.doubtnut.com/l/_ymAEdZwPMwHf
https://dl.doubtnut.com/l/_8OfTioD9sjnh


Watch Video Solution

60. Diagonals of a parallelogram ABCD intersects at

O. if  and . Then find 

.

Watch Video Solution

∠BOC = 90∘ ∠BDC = 50∘

∠OAB

61. In the fig. ABCD is a rectangle in which diagonal

AC is produced to E. if  if find 
∠ECD = 146∘ ∠AOB

https://dl.doubtnut.com/l/_8OfTioD9sjnh
https://dl.doubtnut.com/l/_nBEnLizjdL4G
https://dl.doubtnut.com/l/_SFRnv8PamzGe


Watch Video Solution

62. ABCD is a trapezium with parallel sides AB = a cm

and DC = 6 cm E and F are the mid-points of the non-

https://dl.doubtnut.com/l/_SFRnv8PamzGe
https://dl.doubtnut.com/l/_xCuJjVQECyun


parallel sides. The ratio of ar (ABFE) and ar (EFCD) is 

Watch Video Solution

63. True/false

If all the sides of quadrilateral are equal, then it is a

rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_xCuJjVQECyun
https://dl.doubtnut.com/l/_22RsIUvVy325


64. True/false

Diagonals of a paralllelogram are perpendicular to

each other.

Watch Video Solution

65. True/false

All the four angles of a quadrilateral can be obtuse

angles.

Watch Video Solution

https://dl.doubtnut.com/l/_827MOHNRuoSM
https://dl.doubtnut.com/l/_FVpO46JR5PkP


66. True/false

Diagonals of a rhombus are perpendicular but

unequal.

Watch Video Solution

67. The figure formed by joining the midpoints of the

consecutive sides of a quadrilateral is ............... .

Watch Video Solution

68. True/false

If three angles of quadrilatera are 30∘ , 80∘ , 110∘

https://dl.doubtnut.com/l/_su57Tj3gvgjw
https://dl.doubtnut.com/l/_R0S5kAz02eal
https://dl.doubtnut.com/l/_W7OZDExoaEBN


then the fourth angle is .

Watch Video Solution

120∘

69. In a parallelogram, sum of any two adjacent

angles is .

Watch Video Solution

180∘

70. True/false

Consecutive angls of a parallelogram are

complementary.

Watch Video Solution

https://dl.doubtnut.com/l/_W7OZDExoaEBN
https://dl.doubtnut.com/l/_08bxxB3iatEu
https://dl.doubtnut.com/l/_RfzuZOhP8HHr


71. True/false

If in a quadrilateral one pair of opposite sides are

parallel, the quadrilateral is a rhombus.

Watch Video Solution

72. True/false

If one angle in a parallleogram is a right angled,

then it is necessary a rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_RfzuZOhP8HHr
https://dl.doubtnut.com/l/_LUGB1HWiMhy3
https://dl.doubtnut.com/l/_1WDwiFgFDvZp


73. Fill ups

In a parallelogram the opposite sids are……………. .

Watch Video Solution

74. Fill ups

A square, rectangle and rhombus are……………. .

Watch Video Solution

75. Fill ups

In a parallelogram ……………bisect each other.

W t h Vid S l ti

https://dl.doubtnut.com/l/_DsHNUKt0A5ts
https://dl.doubtnut.com/l/_3ZfBk2MRB9E6
https://dl.doubtnut.com/l/_MAIwykwv9zJF


Watch Video Solution

76. Fill ups

A quadrilateral is a parallelogram if both pairs of

opposite angles is………………. .

Watch Video Solution

77. Fill ups

If one pair of opposite sides are equal and parallel,

then the figure is……………

Watch Video Solution

https://dl.doubtnut.com/l/_MAIwykwv9zJF
https://dl.doubtnut.com/l/_jba1Xjj0DBG0
https://dl.doubtnut.com/l/_OPxljg12pizC
https://dl.doubtnut.com/l/_p06qCYHONVyK


78. Fill ups

Consecutive angles of a aprallelogram are…………. .

Watch Video Solution

79. Fill ups

If consecutive sides of a parallelogram are equal,

then its necessarily a…………….. .

Watch Video Solution

80. The figure formed by joining the midpoints of

the consecutive sides of a quadrilateral is ............... .

https://dl.doubtnut.com/l/_p06qCYHONVyK
https://dl.doubtnut.com/l/_Xqa4b3lPb8LM
https://dl.doubtnut.com/l/_raI4oSoq80Fw


Watch Video Solution

81. The bisectors of angles of a parallelogram from a

:

Watch Video Solution

82. The angles of a quadrilateral are in the ratio

. The respective angles of the quadrilateral

are :

Watch Video Solution

3: 4: 5: 6

https://dl.doubtnut.com/l/_raI4oSoq80Fw
https://dl.doubtnut.com/l/_ocKCve4DxGYx
https://dl.doubtnut.com/l/_mTWf4xzAJkZ7
https://dl.doubtnut.com/l/_Oc2W5CSF9lR1


83. In a quadrilateral ABCD, if AO and BO are the

bisectors  and  respectively,  and 

 then =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠A ∠B ∠C = 70∘

∠D = 30∘ ∠AOB

60∘

80∘

50∘

100∘

https://dl.doubtnut.com/l/_Oc2W5CSF9lR1


84. The figure formed by joining the midpoints of

the consecutive sides of a quadrilateral is ............... .

A. rectangle

B. square

C. rhombus

D. parallelogram

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_BH4qWkye1I9Y


85. The figure formed by joining the mid points of

the adjacent sides of a rectangle is

A. rhombus

B. rectangle

C. paralllelogram

D. square

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ZhHEJc7GkESp


86. The figure formed by parallelogram is  less

than twice the smallest angles, then the largest side

angle of the paralellogram is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

24∘

58∘

102∘

112∘

145∘

https://dl.doubtnut.com/l/_cYtTPSXU7Aky


87. Find the measure of all the angles of a

parallelogram, if one angle is  less than twice of

the smallest angle.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

24∘

58∘

102∘

112∘

145∘

https://dl.doubtnut.com/l/_rJY10Hinzbpf


88. The consecutive sides of a quadrilateral have

A. no common point

B. one common point

C. infinitely many common points

D. two common points

Answer:

Watch Video Solution

89. Which of the following quadrilateral is not a

rhombus?

https://dl.doubtnut.com/l/_uZdB3GsQGItu
https://dl.doubtnut.com/l/_e5VuibGYRFOe


A. Diagonals bisect opposite angles

B. All four sides are equal

C. One angle between the diagonals is 

D. Diagonals bisect each other

Answer:

Watch Video Solution

60∘

90. The bisectors of any two adjacent angles at a

parallelgoram intersect is

A. 30∘

https://dl.doubtnut.com/l/_e5VuibGYRFOe
https://dl.doubtnut.com/l/_A4TUgAdx1KVS


B. 

C. 

D. 

Answer:

Watch Video Solution

60∘

45∘

90∘

91. The figure formed by joining the mid points of

the adjacent sides of a paralellgoram s

A. rhombus

B. square

https://dl.doubtnut.com/l/_A4TUgAdx1KVS
https://dl.doubtnut.com/l/_6qilWk0sLcJf


C. paralllelogram

D. rectangle

Answer:

Watch Video Solution

92. The figure formed by joining the mid points of

the adjacent sides of a paralellgoram s

A. rectangle

B. square

C. rhombus

https://dl.doubtnut.com/l/_6qilWk0sLcJf
https://dl.doubtnut.com/l/_FUPMpgHuDrBt


D. parallelogram

Answer:

Watch Video Solution

93. In one angle of a prallelogram is  less than

the smallest angles, then the measure is largest

angle of the parallelogram is

A. 

B. 

C. 

24∘

102∘

78∘

112∘

https://dl.doubtnut.com/l/_FUPMpgHuDrBt
https://dl.doubtnut.com/l/_yTWKO0YjC8oN


D. 

Answer:

Watch Video Solution

176∘

94. ABCD is a parallelogram and E and F are the

centroids of triangle ABD and BCD respectively then

EF=

A. AE

B. CE

C. DE

https://dl.doubtnut.com/l/_yTWKO0YjC8oN
https://dl.doubtnut.com/l/_ACC4Y1ChDJWe


D. BE

Answer:

Watch Video Solution

95. In Fig. .

 


ABCD is a parallelogram and E is the mid-point of

https://dl.doubtnut.com/l/_ACC4Y1ChDJWe
https://dl.doubtnut.com/l/_1jQ11iOPfXZZ


side BC. If DE and AB, when produced meet at F,

prove that AF = 2AB.

A. 3AB

B. 2AB

C. 

D. 

Answer:

Watch Video Solution

AB
3

2

AB
5

4

96. If the degree measures of the angles of

quadrilateral are 4x,7x,9x and 10x what is the sum of

https://dl.doubtnut.com/l/_1jQ11iOPfXZZ
https://dl.doubtnut.com/l/_8MmmTFgCgVzg


the measures of the smallest angle are largest

angle?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

180∘

140∘

168∘

150∘

97. The diagonal AC and BD of a rectangle ABCD

intersect each other at P. if  and ∠ABD = 50∘

https://dl.doubtnut.com/l/_8MmmTFgCgVzg
https://dl.doubtnut.com/l/_xakb8OhW9bNa


=

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠DPC

90∘

110∘

80∘

100∘

98. ABCD is a rhombus such that .

Then  is

∠ACB = 40∘

∠ADB

https://dl.doubtnut.com/l/_xakb8OhW9bNa
https://dl.doubtnut.com/l/_0oVlNSfimvAQ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

45∘

70∘

50∘

60∘

99. Diagonals of a parallelogram ABCD intersects at

O. if  and . Then find 

.

∠BOC = 90∘ ∠BDC = 50∘

∠OAB

https://dl.doubtnut.com/l/_0oVlNSfimvAQ
https://dl.doubtnut.com/l/_8Skl9VyNKeHO


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

40∘

10∘

90∘

50∘

100. ABCD is a trapezium in which . M

and N are the mid-points of AD and BC respectively.

If AB = 12 cm, and MN = 14 cm, find CD.

AB ∣ ∣ DC

https://dl.doubtnut.com/l/_8Skl9VyNKeHO
https://dl.doubtnut.com/l/_nW0AQq1sqErH


A. 14 cm

B. 10 m

C. 12 cm

D. 16 cm

Answer:

Watch Video Solution

101. D is a point on the side BC of a triangle ABC

such that  =  . Show that  = CB.

CD.

∠ADC ∠BAC CA2

https://dl.doubtnut.com/l/_nW0AQq1sqErH
https://dl.doubtnut.com/l/_QX4Zg1u3EuzN


A. 5cm

B. 9cm

C. 8cm

D. 10cm

Answer:

Watch Video Solution

102. In the figure ABCD is a parallelogram in which

 and  then =

A. 

∠BDC = 45∘ ∠BAD = 75∘ ∠CBD

30∘

https://dl.doubtnut.com/l/_QX4Zg1u3EuzN
https://dl.doubtnut.com/l/_WMRKL3wYxUZy


B. 

C. 

D. 

Answer:

Watch Video Solution

45∘

60∘

55∘

103. In the figure ABCD is a llgm and E is the mid

point of BC. Also DE and AB when produced meet at

https://dl.doubtnut.com/l/_WMRKL3wYxUZy
https://dl.doubtnut.com/l/_BnEJQR0AgFLO


F then

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

AF = AB
3

2

AF = 2AB

AF = AB
3

2

AF 2 = 2AB2

https://dl.doubtnut.com/l/_BnEJQR0AgFLO
https://dl.doubtnut.com/l/_lKTFMinVFINK


104. In a trapezium ABCD, if E and F be the mid

points of the diagonals AC and BD respectively, then

EF=

A. 

B. 

C. 

D. 

AB
1

2

(AB + CD)
1

2

CD
1

2

(AB − CD)
1

2

https://dl.doubtnut.com/l/_lKTFMinVFINK


Answer:

Watch Video Solution

105. Two parallelograms are on equal bases

andbetween the same parallels. The ratio of their

areas is

A. 

B. 

C. 

D. 

1: 3

1: 2

2: 1

1: 1

https://dl.doubtnut.com/l/_lKTFMinVFINK
https://dl.doubtnut.com/l/_V9eN0U2j4vVs


Answer:

Watch Video Solution

106. If angles A, B, C and D of the quadrilateral ABCD,

taken in order, are in the ratio , then ABCD

is

A. kite

B. rhombus

C. tapezium

D. parallelogram

3: 7: 6: 4

https://dl.doubtnut.com/l/_V9eN0U2j4vVs
https://dl.doubtnut.com/l/_rT3u1ydhz9Rr


Answer:

Watch Video Solution

107. Three angles of a quadrilateral are  and

. The fourth angle is

A. 

B. 

C. 

D. 

Answer:

75∘ , 90∘

75∘

90∘

95∘

105∘

120∘

https://dl.doubtnut.com/l/_rT3u1ydhz9Rr
https://dl.doubtnut.com/l/_WqTCjGJKUIUA


Watch Video Solution

108. A diagonal of a rectangle is inclined to one side

of the rectangle at . The acute angle between

the diagonals is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

25∘

55∘

50∘

40∘

25∘

https://dl.doubtnut.com/l/_WqTCjGJKUIUA
https://dl.doubtnut.com/l/_ykByMPiDiC1o


109. ABCD is a rhombus such that .

Then  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠ACB = 40∘

∠ADB

40∘

45∘

50∘

60∘

https://dl.doubtnut.com/l/_ykByMPiDiC1o
https://dl.doubtnut.com/l/_8l4tsYeD7yYd


110. The quadrilateral formed by joining the mid-

points of the sides of a quadrilateral PQRS, taken in

order, is a rectangle, if

A. PQRS is rectangle

B. PQRS is a paralelogram

C. diagonals of PQRS are equal

D. diagonals PQRS are perpendicular

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_DSeKP1nq6pTJ


111. The quadrilateral formed by joining the mid-

points of the sides of a quadrilateral PQRS, taken in

order, is a rhombus, if

A. PQRS is a rhombus

B. PQRS is a paralellogram

C. diagonals of PQRS are equal

D. Diagonals are PQRS are perpendicular

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_C4e1lDdvKQX8


112. If angles A, B, C and D of the quadrilateral ABCD,

taken in order, are in the ratio , then ABCD

is

A. rhombus

B. parallelogram

C. trapezium

D. kite

Answer:

Watch Video Solution

3: 7: 6: 4

https://dl.doubtnut.com/l/_Im2DszmXZvEh


113. If bisectors of  and  of a quadrilateral

ABCD intersect each other at P, of  and  at Q,

of  and  at R and of  and  at S, then

PQRS is a

A. rectangle

B. rhombus

C. parallelogram

D. quadrilateral whose opposite angles are

supplementary

Answer:

Watch Video Solution

∠A ∠B

∠B ∠C

∠C ∠D ∠D ∠A

https://dl.doubtnut.com/l/_LGqYuBNjjYTK


114. If APB and CQD are two parallel lines, then the

bisectors of the angles APQ, BPQ, CQP and PQD form

A. a square

B. a rhombus

C. a rectangle

D. any other paralelogram

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_LGqYuBNjjYTK
https://dl.doubtnut.com/l/_lN2Wdkc4qnoO


115. The figure obtained by joining the midpoints of

the sides of a rhombus, taken in order, is

A. a rhombus

B. a rectangle

C. a rhombus

D. a apralleogram

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_aXry65Yu07xy


116. Dand E are the mid-points of the sides AB and

AC of  and O is any point on side BC. O is

joined to A. If P and Q are the mid-points of OB and

OC respectively, then DEQP is

A. a square

B. a rectangle

C. a rhombus

D. a parallelogram

Answer:

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_7PCHvGhCtWNE
https://dl.doubtnut.com/l/_QsZPNQGu9Y8b


117. The figure formed by joining the midpoints of

the sides of a quadrilateral ABCD, taken in order, is a

square only

A. ABCD is a rhombus

B. diagoans of ABCD are equal

C. Diagonals of ABCD are equl and perpendicualr

D. diagonals of ABCD are perpendicular

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QsZPNQGu9Y8b


118. The diagonals AC and BD of a parallelogram

ABCD intersect each other at the point O. If

 and , then  is

equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠DAC = 32∘ ∠AOB = 70∘ ∠DBC

24∘

86∘

38∘

32∘

https://dl.doubtnut.com/l/_D83DMIlK1UTo
https://dl.doubtnut.com/l/_L1u4S3Ch0iAe


119. Which of the following is not true for a

parallelogram?

A. opposite sides are equal

B. oppsite angles are equal

C. opposite angles are bisected by the diagonals

D. diagonals bisect each other

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_L1u4S3Ch0iAe


120. D and E are the mid-points of the sides AB and

AC respectively of . DE is produced to F. To

prove that CF is equal and parallel to DA, we need an

additional information which is

A. 

B. AE=EF

C. DE=EF

D. 

Answer:

Watch Video Solution

ΔABC

∠DAE = ∠EFC

∠ADE = ∠ECE

https://dl.doubtnut.com/l/_ljRsScrBJPdi
https://dl.doubtnut.com/l/_BIgbtIEXeYap


121. The length of the diagonals of a rhombus are 24

cm and 32 cm. the perimeter of the rhombus is

A. 49 cm

B. 128 cm

C. 80 cm

D. 56 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_BIgbtIEXeYap


122. Prove that the sum of the squares of the sides

of a rhombus is equal to the sum of the squares of

its diagonals.

A. diagonals

B. angles

C. opposite sides

D. none of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_er5MPdLSvwo5


123. In the fig. ABCD is a parallelogram if

 and  then find 


Watch Video Solution

∠ADB = 30∘ ∠DCB = 80∘ ∠DBA

124. In a parallelogram PQRS, write the sum angles of

P and Q.

Watch Video Solution

https://dl.doubtnut.com/l/_2avvi9OAVRLu
https://dl.doubtnut.com/l/_RSyieUdFYrmP


125. The angle of a quadrilateral are in the ratio

1:3:5:6 find the greatest angles.

Watch Video Solution

126. ABCD is a rectangle in which diagonal AC bisects

/_C`. Show that ABCD is a square.

Watch Video Solution

∠Aaswellas

127. State and prove mid point theorem.

Watch Video Solution

https://dl.doubtnut.com/l/_8FS5udZd9czP
https://dl.doubtnut.com/l/_LK339WVLMNGW
https://dl.doubtnut.com/l/_yDlTPSINaoOc


128. The figure formed by joining the mid points of

the adjacent sides of a paralellgoram s

Watch Video Solution

129. E and F are points on diagonals AC of a

parallelogram ABCD such that AE=CF. show that BFC

parallelogram

Watch Video Solution

https://dl.doubtnut.com/l/_yDlTPSINaoOc
https://dl.doubtnut.com/l/_IKsQySsa1C5R
https://dl.doubtnut.com/l/_U4autAiBDKn1


130. If the length of the side of a rhombus is equal

to the length of one diagonal Find the angles of the

rhombus .

Watch Video Solution

131. In the fig. AD is a median of triangle ABC and E is

the mid point of AD, also BE meets AC in F. prove

https://dl.doubtnut.com/l/_8d9JQobJ7w7Y
https://dl.doubtnut.com/l/_SZ3bZx6apmZh


that 


Watch Video Solution

AF = AC
1

3

132. ABCD is a rectangle and P, Q, R and S are the

mid-points of the sides AB, BC, CD and DA

respectively. Show that the quadrilateral PQRS is a

rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_SZ3bZx6apmZh
https://dl.doubtnut.com/l/_imqUDBGNNYXI


133. ABCD is a quadrilateral in which AB||DC and

AD=BC. Prove that  and .

Watch Video Solution

∠A = ∠B ∠C = ∠D

https://dl.doubtnut.com/l/_imqUDBGNNYXI
https://dl.doubtnut.com/l/_gukJvHy21uCq

